Math 2433-001  Quiz4  Name:  Soluhisns

Q1].. True or False.
(1) If T(¢) is the unit tangent vector to a smooth curve in 3-dimensions, then the curvature & is

given by

5 = 'E
“ Fov 9‘“'“@3;\
FP(LS& ——-*O(\\U woks ‘i(— t=s (arc\p.(\a‘(&\) . Alf: ‘-j:“
| A AN

’t‘”‘&\ aloay paka w So tzis; tw k= Z\%\ .

(2) If the acceleration of a particle is always parallel to the position r(t) of the particle, then
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(3) If |r(t)] = 1 for all ¢, then r'(t) is perpendicular to r(t).
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(4) If |r(t)| = 1 for all ¢, then |r'(¢)] = 1 for all ¢.
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